20

track x?

6 8 10 12 14 16 18

4

berset

iy

N of associated (recoToSim) looper tracks vs normalized X

sxoen aredidnp

) tracks vs normalized x?

recoToSim)

[{

[N o associated

syoen areandnp

=
e

[N of reco track vs normalized x2 ]

syoen

syoen

32
N <
00 X
— O
8
© S
—
<
—
N
—
o
—
0
©
<
N
o 3
=
-
Syoel) e}
02
N <
00 X
— O
IS
© =
—
<
—
o
i
o
—
o
©
<
N
2
£ 3
S o
mw syoel) aniy oney
ehal
g5
c
Qo |28
< eKwU
0 X< |ED
— O |=c
o £ k]
- F-l
< E=
— 9494
afal
~
—
o
—
co
© e
> e o
< W ESrorornne
o o Eﬁ
9 SESESiZEsE
b 2 PO OO
B a =) 2 -
(=) =} =1 > > 5
=1 = 3 5 =




	Contents
	Page 1


